




2. lim F(x) = 1 LbRt lim F(x) = 0
x-m x- - -

3. F(x) !,h nondecreasing function thhYO9 x c 2 61 60  x, bbRt  x2 b@lUi  x, < x,
1

L& F(q)  < F(Q)

aswi  9in F(x)  = P(X < x)

F(lO) = P(X < 10). .

UA”  ‘.’  P(X < lo)+ P(X  > 10) = 1

P(X> 1 0 )  =  l-P(X<  1 0 )

=  1  -F(lO)

= 1 -(I -4’“)

x - a a<  x< b

F ( x )  = 0, x< a
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Y

1
p(X  = j) = ‘7 , j  =  0,1,2,...

bdO  1  > 0 09bbW@lYh  P(X = j) ~~sWWUU?Lh  Probability distribution

m OF

C p(X  z j) = 1 emnc
i=O i-0 j!

-A.eA  (;.  5 G =ex)= e
i=O

= 1
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LL~@&I  P(X = j) = e-A?,  j = 0,1,2,...  d~WWl.%.!h  probability distribution

eA = l+A+A;+g+g+...
. . .

AZ I3 14e-l = l-A+Zi-T+;ir-...
. . .

~Wti%h fx(x)  Lb%  F,(x) kh Continuous

s

X

F,(x)  = fxWy
-m

P[a< X < b] = i bfx(y)dy-
-co

=
P fx Wdy

a
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4. lim Fdx,  Y) = WY)
x-m

lim  Fx&,  Y) = F&O
Y-Q-

0, x<o

F,(x) = P,, o<x< 1

1, x> 1

0, Y< 0

WY) = P,, o<  y-c  0

1, Y> 1
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E(X’Y’)  = x’yjf(x  y)dxdv, I
cm’  m

b161Z  central moment %4  (i, j) 60

E((X-E(X)]‘[Y-E(Y$]  = im/~[~-E(X)12[y-~(Y)]‘.f(*.~~)dxdy
I-cc  ,-cc

E[ G(X).H(Y)]  = i/G(x)H(y)f(x, y)dxdy

= E(XY) ~ E(X)E(Y)

El[X-ECW][Y-E(Y)]]
Puv =

\! V(X)V(Y)

= covw,  Y)-
J V(X)V(Y)
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related) 61

/Cov(X,  Y) = 0 l&l

E ( X Y )  -E(X)E(Y) =  0

bLRZl:bGUl641  61 x  LLRt  Y  dU2R3~~U~Cl~

E[ ( X - E(X))  ( Y - E(Y)]] = E[ X - E(X)) E[ Y - E(Y))

0

6xy(2-x-y), O<  x< l,O<  y< I
fxuk Y)  =

0 ,  LJ

I.  Pm1 Cov(X,  Y)

2 .  89Mlp,,

Sd  0
36911 ?llS&tM1  Cov(X,  Y) LbA:  PXY  L-alil%lW  E(X), E(Y), E(XY), V(X) LLFI: V(Y)

n’OUlL~~“arLYlUdl%Ug~3

Cov(X,  Y) = E(XY)  - E(X)E(Y)

. f%(X)  =.  . I 6xy(2 - x ~ y)dy
‘0

7 8

i

x(4 - 3x), 06  x< 1
= .A

0, of6  7
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. 1

f , ( y )  =  \ 6xy(2-x-y)dx
‘0

,I

E ( X )  =  \ x.x(4-3x)du  =  ;.
0

.I

E(Y)  = \ y.y(J-3y)dy  = 6
0 ‘.

.I

v(x)  = 1 (x-&)*x(4-3x)dx = V(Y)
0

--+’  =175= - 7000 + 7344
144 40 144x40

344 43=
1 4 4 x 4 0  = ~720

E(XY) = xy.6xy(2  - x - y)dxdy

.  Cov(X,  Y )  =  E(XY)  -E(X)E(Y). .

7 9
S T  2 1 0









i

2x,
f(x) =

f-4

o < x <  1

h.4 9

WMI Moment generating function 1109  X UBt0lll  mgf 99Vll Mean LLWt Variance

1 2 .  IPSYf,(t)  =
10 exp( - lot), o<t

0, o> t

WMI 4 Moment blTflllQ4  t ‘U?l  Moment generating function lKlSlJ”er

13. b%hLHki&+J  X a pdf bih&iJd

t

xe-", x20
f(x) =

0, x<o
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